31
T L

1
T AR NG S X e IR SN ? W\/gXZJr\/?er? ®)

D)3 +2x—1 (E)%X .

W 2E R
Tﬁt?}?ﬁf&@ﬂ@ , }LJTF‘J‘:& IR, }UTF‘J‘:&;&J{%ﬁ@H[ ) ﬁ(S“E(A)(E)
IR 2
wa,b, ey, Ff(x) =a’+b’+ex+52 5lal +4[b—1| + [c+3] =1,
A deg f(x) =
W 5/al +4/b—1|+ |[c+3|=1" a,b,cﬁﬂﬁgﬁj@\’f
S.olal =0, |[b=1] =0, |c+3]| =1
a=0,b=1,c=—451 -2 P(Sfdegf(x) =2

3x+1
X—2

C)x*—3] x |

fyIRE 3
% f(x) = (a+3)x°+ (b—1)x+ (c—2) ,g(x) =2¢—3x+1 44 53N, %

f(x) =g(x) ,BlAE%2 (a,b,c) =
H: EI[%:EJ«:C*E[%‘T'J;FD
a+3=2,b—1=—-3,c—2=1
a=—1,b=—-2,c=3
P{sﬂi‘»ﬁﬁ' (a,b,c)=(—-1,—-2,3)

IRE 4

% f(x) =2¢+3x—1,g(x) =x*—x+2, B :
(1) 2f(x) +3g(x) = .

(2) f(x) —29(x) = .

3) f(x) -g(x) =

W (1) 2f(x) +3g(x) =2(2¢+3x—1) +3(x*—x+2)
=4x2+6Xx—2+ 3% —3x+6=Tx*+3x+4
(2) f(x) —29(x) = (2¢+3x—1) —2(X*—x+2)
=2 +3x—1—2x%+2x—4=5x—5
3) f(x) -g(x) = (2¢+3x—1) (¥—x+2)
=2 =2 A 4333 bx— XX 2=+ Tx—2

62 fyiliEe (<) pe



IRE 5

I G E

P(x) =20+19x+18x°++----+x , Q(x) =20x"+19x®+18x" + -+ +2x+1,

FP(x) £ Q(x) dhift

(1) x*° 78 chia e 5

@) #4 T enihdiefe s

W P(x)Q(x) = (20+19X+18x2+------ +x9) (20x" +19x*8 4+ 18X 4 -+ +2x+1)
4720x21x4147

(1) FFf[ X FIUETE520° + 197 + 187+ oo 4 17= 2 KP=————=2870
(2) SR 1FE IR (TR LD
P(1)Q(1) = (20+19+18+ -+ +1) (20+19+18+-++++1)
20x21 20x21

i 6

#Ffr £ ",f i RT AR RE R VAt
(1) 4x*—5x*—6x+3 ot 2+l

(2) 2%+ — 42 +7 o 2% —x+1.

0

R 20— —2x—2 , 87040
(2)

MR X2, R0 EE—3x 49

DEEREE

63



IR 7
%578 N X xX+2 i APl H2x+q, Bl (p,q) =

B

Cpors . |TPT3=0 p=3 B
YR 8
% f(x) =x*—2¢+3x—5, £f(1+/3) = .

W x=1+4/3 = x—1=[3
T -2x+1=3 © x¥*—2x—2=0
LR )
f(x) = (X2—2x—2) (+2x+4) +15x+3
f(1+4/3) =15(1+4/3) +3
=15+15\3 +3=18+153
e 9
U P KT A E R et
(1) x*+x*+4x*+5x L x+2.
(2) 9 —12x*+7x—8 ot 3x—2.
Wm:1) 1+1+4 +5 +0 —2
—2 42 —12 +14
1-1+6 — 7 ,+14
ﬁ?ﬁﬂ X2 6X—T , BRVET, 14
2) 9 —12 +7 -8 2

+6 —4 +2
39 -6 43,6
32 +1

il Bkt A —2x+1, EFH—6

R 10
% f(x) =x*—8x°+25x—32 :

64 il (- ) M



(1) #F(x) %4 (x=3) 57, ¥f(x) =a(x—3)>+b(x—3)?+c(x—3) +d,
RlAE%2 (a,b,c,d) =

(2) 12 (x—3)2u,$ f(x) 243\ 54 .
(3) #f(299) et iliE 4 o (BT B EBE - BT )
(4) £ f(3+i) =
WD) f(x) = (x—3)%+ (x—3)2+4(x—3) —2 1 -8 +25 —32 3
SR (a,b,c,d)=(1,1,4, —2) +3 —15 430
(2) f(x) = (x=3)%( (x—3) +1) +4(x—3) 1 -5 410 ,— 2
—2 +3 — 6
SO (x=3) 2R F(x) VERCED 1 —2.,+4
4(x—3) —2=4x—14 +3
(3) (2.99) 1, +1

=—2+4x (—0.01) + (—0.01)%+ (—0.01)?
~—2-0.04=—-204
(4) f(3+i) =i*+i%+4i—2
=—i—1+4i—2
=3i—3



3-2
f?’Jﬁl
% f(x) =x* a4+ 7x— 8“% UX+12 45856, pla=
Ef(x) =X—2—x+5, Bl 5388 g(x) =f(f(x) >K$” (x— 2) L

W) Edef(—1) =6
f(—1) = (=)™ 4ax (—1)¥+7x (—1) —8=6
l-a—7—8=6 > a=—20
(2) "f(2) =2°—2x2*—2+5=3
g(x) B x—2 Vet ti g(2) =f(f(2) ) =f(3) =3°—2x3¥—3+5=11
g () BRI x—2 1 ER=1E 1

fyIRE 2

% f(x) =x°—6x"—20x°+ 30X+ 10x+56 , 4 f(8) =

W R f08) AR F OO BRI x—8 Vet 1 -6 —20 +30 +10 +56 8
Lk (R OO BRI x—8 Va1 +8 +16 —32 —16 —48
firf(8) =8 142 —4 —2 — 6 ,+8

ke 3

e (_%>5_4X (_%>4+5X (_%>3+3>< (—%>2+7x (—%> +16

. __nyd 4 3 2
--]%f(x) =3x"—4x"+5x°+3x"+ 7x+ 16 3 -4 45 +3 +7 +16 2
T T e g 2 — _ _
g L, R £ (—5) 2 4 —6 42 — 6
) 3 3-6 +9 —3 49 ,+10
AP p R (=57 =10 1 -2 +3 —1 +3
F{V’F’L?‘zlo
TR 4

% X243x+2 5 f(x) =X+ +axd+bx+10 2 F]5¢ , pl#y (a,b) =
WX+ +2= (x+1) (x+2) £f(x) V=t
“f(—1) =1-1+a—b+10=0" a—b=—-10
f(—2) =16—8+4a—2b+10=0 -~ 4a—2b=—18
il a=1, b=11
feHrE (a, b) = (1, 11)

66 fyflE (- ) M



R 5
Hf(x) az=xbm, 2f(—1) =f(2) =f(4) =32 f(1) =15, p] % 7 ;©
f(x) =
H: —?Jf(x) =k(x+1) (x—2) (x—4) +3

~f(l) =157 15=kx2x (—1) x (—3) +3 > 6k=12 > k=2

#(Sff(x) =2(x+1) (x—2) (x—4) +3

=2(X*—5x+2x+8) +3=2x"—10x*+4x+19

R 6
wf(x)ag=z=xsmxmv,25f(—1) =f(3) =02 (1) =—12,f(0) =—3, p %
BNf(x) =
H: —?Jf(x) = (x+1) (x—3) (ax+hb)

v (1) =—12> —4(a+th) =—

f(0) =—37 —30=-3 #VHb=1,a=2
ﬁ[”srf(x) = (x+1) (x—3) (2x+1) =2x®*—3x*—8x—3

YIRE 7
& 5N (x) “,f MXH1l, x—2 245w 5 —8,1, Bl f(x) “,f n(x+1) (x—2)

2 ARG
| R 1) =—8,f(2) =1
wa(x) = (x+1) (x—2) Q(x) +ax+b
f(—=1) =—a+b=-8
{f(Z) =2a+b=1
el a=3,b=-5" g’vf(x) =l (x+1) (x—2) VER="£) 3x—5
Ik 8
& 53 (x) Kf” X+1,x—=3,x+4z45su52,16, —19, p|f(x) “,%."1
(x+1) (x—3) (x+4) z 433
W EEef(-1) =2, f(3) =16, f( 4) =—
qu(x) = (x+1) (x—3) (x+4) Q(x) +a*+bx+c
f(—1) =a—b+c=2
{f(B) =9a+3b+c=16 B 1 a= 7% , b:%, c=7
f(—4) =16a—4b+c=—19

1
GO I8 (0hD) (x-3) (xH8) VBsSG—3 @b Xt T



FIRE 9
5 E(x) g X+2x+3 2 x—12 48 &= 4 x+11 2 6, B f(x) 1
(X+2x+3) (x—1) z 41 % .
W00 = (xX*+2x+3) (x—1) Q(x) +a(xX*+2x+3) +x+11
~f(l) =max6+12=6" a=—1
o £ — (X2+2x+3) +x+11=—x*—x+8

YIRE 10
5380 (%) “,%J‘z (x—1)22 (x—2)2z2 4 &% 32 3x+2, B f(Xx) “,%J‘z
(x—1)2(x—2) 243 5
W

f(x) = (x—1)%Q:(x) +3x = f(1) =3

f(x) = (x—2)2Qy(x) +3x+2 = f(2) =8

fﬁf(x) = (x—1)2(x—2) Q(x) +a(x—1)2+3x

f(2) =a+6=8" a=2
ﬁyﬁ%gﬁ;ﬁ%2(x—1>2+3x:2x2—x+2

fyIRE 11
Zf(x) 4=2x 8750, 211681 R Ea R X +1 f2AR L —x—1,
pIf(x) =
WA (x) = (¥—1) Q(x) +x+1
f(1) =2,f(—1) =0
<o f(x) ERT OV 2R
.'.—?Jf(x) = (x*+1) (ax+b) + (—x—1)

: f(1) =2(a+b) —2=2 at+b=2
"f(—1) =2(—a+tb) =0 ~]a—b=0
el a=1, b=1

0 = O441) (x+1) + (—x—1) =X+x°

IR 12

Fof(x) =2x" =33 —6x*—8x—3 chff tadc— =t F|3\ % .

M F%ax—b BV E(x) = W2 Epra, b BVEREE (a, b) =
Hlafpefitl , 22, & b prfebitl , 13
Pdfﬂp*ﬁ:glfj— RPN,
x+1,x—1,x+3,x—3,2x+1,2x—1,2x+3, 2x—3

68 il (- ) M



~f(l) =2—3—6—8—-3=—18,f(—1) =2+3—6+8—3=4
T?ﬁljﬁl (a—b) [ (1) pvE x+3, 2x+3
Tiﬁﬂjﬁi (a+b) |f(—1) puEp2x—1, 2x—3

A% X370 20F L[ R AR 1(3) =0, 1(—5) =0
S RO PR RPN x =3, 2x+1
iR 13
* AN F(x) =15+ax+bx+180 , H ¢ a, b & Fdc, £ A auER ¢ § F(x)
FN, FR AP B2 A)2x—5 (B)5x—8 (C)3x+5 [D)3x—10 (E)10x+9.
W e PR I
C)3x+5 (D) 3x—10 F i {4 f (x) V[
< F(0) =15 +ax +bx+180 (H{l1a, b LI JeRy) Vg Er

10 .
.'.f(T) #0 F{S“E(C)

e 14
Bk Al 2N X Had+H b+ ox+40=0F = Bip R hl FEGT, Ble 22 4o
H: ?J f(x) =x*+ax+bx®+cx+40

PR W PN A

*l F'J F'J‘:EIU— TP

xt1 , x¥2 , x4 , x5, x£8 , x+10 , x£20 , x+40

UL 40 | X BT T R

SF () =xX4aC+bx+cex+40= (x—1) (x—2) (x—4) (x—5)

PAIF(x) =0 VPpuslEy 1,2 ,4,5

DRV FIEE 1424 4+5=12

Y3 - 2t 69



3-3

fTRE 1

Zf(x)= (x+1)*(2x—1)?(3x—1)%,g(x) = (x+1)*(3x—1)2(x—2)*,
f(x) & g(x) =

Bl
(1) BB 2 F3' 5
(2) BB A .
W (L) BRI (x 1) (3x—1)°
(2) % f“E@(x+1)4(3x—1)3(2x—1)2(x—2)3
IRE 2

Zf(x) =2¢—K—2x+1, g(x) =4C—4%—x+1, h(x) =2x*—3¢—3x+2, B
f(x) ,9(x) ,h(x) 2
(1) BB 2 F]38 5 . (2) BB A
W f(x) =2—x—2x+1=x*(2x—1) — (2x—1)
= (2x—1) (¥*—1) = (2x—1) (x+1) (x—1)
g(x) =434 —x+1=4x"(x—1) — (x—1)
= (x—1) (4&*—1) = (x—1) (2x+1) (2x—1)
h(x) =2x3—3x*—3x+2=2(x*+1) —3x(x+1)
=2(x+1) (X¥—x+1) —3x(x+1) = (x+1) (2 —2x+2—3x)
= (x+1) (2X*—5x+2) = (x+1) (x—2) (2x—1)
fEL) by PO 2x—1
(2) ﬁ@fﬁ:ﬁ?c% (2x—1) (x+1) (x—1) (2x+1) (x—2)
GE
A i Aprs T’z F X+ 23 +5x+2 ¥ C—xP—11x—4 ¢
(1) &8 273\ 5 e (2) BB E
W T R
143 142+ 04 5+ 2 1-1-11—4 1-4
1-1-11— 4 143+ 1
3+11+ 9+ 2 | —4—-12—4
3— 3—33—-12 —4—-12—4
14 14+42+14 0
1+ 3+ 1

1) ﬁﬁq? PR w2+ 3x 1

70 il (<) R



(X423 4+5x+2) (X*—x*—11x—4)
X2 4+3x+1

= (X*+2¢+5x+2) (x—4)
=x°—2x*—8x*+5x*—18x—8

(2) JR{527 R0

YR 4
Ao SN B GHEISS 1Y HAPR , B SN R R 2 FN 5 x—3,
B AL X —8C+21x—18, Bt A 5N G
W IR0 (0,

f(x) = (x—3) xh(x) ,g(x) = (x—3) xk(x)

EHh(x) - k(x) 2B EEg- st

A} =IRN ['f}?“?f’b (x—3) h(x) k(x)

X —8x’+21x—18

4 3 =x*—5x+6= (x—2) (x—3)
Ry ST (x—2) (x=3) ¥ (x—3)*
IR 5

% f(x) =x—6x%+11x—5, g(x) =X—8x¥*+19x—7, £f(a) =1* g(a) =5,
Al a=
H: ]%F(x) =f(x) —1=x3—6x*+11x—6
G(x) =g(x) —5=x3—8x*+19x—12
J.F(a) =f(a) —1=0,G(a) =g(a) —5=0
cx—aflF(x) TG (x) o pst
~1 1-6+11— 6 1—8+4+19—-12 1—4
1-8+19—12  1—4+ 3
22— 8+ 6 —4416—12
1— 44 3 —44+16—12
0

Sf(x) —1=g(x) —5 j/ﬁﬁ,pﬁd?“%xz—MJrB: (x—1) (x—3)
JX—a=x—1f x—=3, E(Sfazlﬁ‘} 3
Y 6
iR f(x) =XC+3C+x—52 g(x) =X+ +ax—3 e F 2 FN L - S
Pl E #ica=
W f(x) =X+3%+x—5
= (x—1) (X*+4x+5)
_\/ﬁﬁfjﬁ PRI — ozt

<l

53 - = 71



AR PR x— 1
g(1) =0~ 1+1+a—3=0> a=1
YRE 7
%k LFE,F(X) =XC—2¢—5x+6, g(x) =X +Kkx*+2kx—16 ,

) #f(x) &2g(x) F-=x3%283 275", Bk , H.C.F.
2) FF(x) & g(x) F 28283275, Bk , H.C.F.
liﬂéﬁﬁﬁmfﬁﬂﬁﬁﬁﬁiﬂﬂ(x):<M—1>(xf3>(X+2>
:‘EII g(x) "EJ Xx—1 V=t EJ[Jg(l) =0 k:3ﬁk}f5 .................. D
jE'] g(x) "EJ X—3 V=t EJ[Jg(3) =0 /TxgﬁQWﬁ{ .................. ®
T 9(x) "EJ X+2 V= flg(—2) =0 k= 3%[5, Devenrrranennnns ©)

10 . @ . @41, Jii k=3B , HCF.= (x—1) (x+2)
Hik=—5[% , HCF.=x—1
Hjk=—2p , HCF.=x+2
EI[J‘}J—Q@[I
(1) # F(x) = g(x) £~ jﬁ“d’ﬁﬁfj?[“?“ , Pl k=—55y—2
HHCF Ky x—1H5 x+2
(2) F 100 =g (x) F= WA N k=3
EH HCF £y (x—1) (x+2)
Ik 8

EF(x) =x®—2—1,9(x) =x*—=3"—4, B f(x) £ g(x) 253

W00 = g0 Vi 2 PNZ0EE d 00
Hld(x) | (X**—2x¢—1)
d(x) | (x*—3x%—4)
dx) | [ (®=2¢—1) =X (x*—3¢—4) )
d(x) | (3x*+2x¥¢—1)
d(x) | [ (@+1) (3¢—1) )
LEOO L g(x) PUR PR AL, 361

mf@f;>¢mguj%>¢o

CHE= LT (X0 =g(x) =0
f (0 =g (x) VRl 2t T X+ 1

72 il (<) R

ETTRE TS



YIRE 9
58N f(x) =X+ (c+1)x—3c2 g(x) =2+ (2c—3) x—6¢c+52 % % 2 7]
FE-=SN, Ple= , X Beg 2 FR S
R F%f(X)E‘“ g(x) Vil A PNFEE d OO
Hld(x) | (¥+ (c+1)x—3c])
d(x) | [2¢+ (2c—3)x—6¢c+5)
d(x) | {20+ (c+1)x—3c) — (2 + (2c—3)x—6¢+5] }
d(x) | (5x=5) = d(x) | [(5(x—1) ]
N L Ol 2 N X L
f(1) =021+ (c+1) —3c=0"c=1 f?c 1 'ﬁﬁ SN, x—1

fyIRE 10

c iR f(x) =X43+a g(x) =X+ Fx—1+afh MRt ie s,
Pas e, fla= , X Beg TR S i SR

W f(x) ,g(x) Y LCM. EGpuzt - H.C.E. 17— %t

RIS TICORSICONRICY ,d<X) | g(x)
Sdx) | (g(x) —f(x) ) =x*-2x—1= (x+1) (X*—x—1)
A€zt X x— 1R E R
A0 =x+1 0 (x4 |00
ﬁ(yf(—l) =1-3+a=0" a=2
. {f(x) =x24+3x+2= (x+1) (x+2)
g(x) =X+ +x+1= (x+1) (¥*+1)
ey PR XL RS2 R (xHL) (x42) (X¥+1)
fRE 11
EF(x) =xX3+2C+ax+12 g(x) =X+ +bx+2 2 5B 2758 4 - 5%, By
(a,b) =
L R el N E T d(X) s HIdOO [F(x) 5 d(x) [ g(x)
d(x) | (f(x) —g(x) ) =x*+ (a—b)x—1
d(x) | [2f(x) —g(x) ] =x3+3¢+ (2a—b)x=x[x*+3x+ (2a—b) )
" f(0) =140, g(0) =2+0

"X ZER Tt
X+ (a—b) x—1% ¢ +3x+ (2a—b) JHEf [N
1 a—b —1

1 3 2a—b

a—b=3 a=—4
"{Zab—l {b _7 R (2. b) = (=4 =)

T3 - #E 73



3-4

IRE 1
TARA P ET : Sdf(x) =l-ax (£¢ a>0) 2§17 ?
N 1 B 7 c 7 D)

0,1) (0,1)

X X
/04 1,0 (~1,0) 0}\
X X
o| [5)

H: '&J y=f(x) =1l—ax=—ax+1
a>0 ..—a<o0
FAy=—ax+1VHEEE, Jiﬁ}%ﬁ(o , 1) ’ﬁﬁg(B)
YR 2
EEFE, DFIEBALES0A , BML 204, AKY - BAPEIHEKAAS , # 20
A% 604,504 % 5 100 &~ , B -

(1) R &% AL A, s htss A
(2) 4 tss 724, BIR%S A
_E _4
f ot |80=20a+D T3 4 100
TpyTaxd 100=50a-+b 100 Y73 XT3
=73~
4 100
i) y=gxdl+—3 =88 (5})
4 1
2) T2=ax+10% 2 x=29 (1)
IRE 3
BIET A AR, F R T B AR g AL A2
(1) y=3x+6x+1. (2) y=—2x*+6x—5.

W (D) y=3+6x+1=3(x+1)%—
Bl (=1, —2) £7RIRT
= — 1 ELSEEE S B I[F[ij/ja‘aﬁfﬁa;ﬁ

0 x -3 -2 -1 0 1
f(x) 10 1 -2 1 10
P4

1
(2) y=—2X"46x—5= —2(x—%) =

74 il (<) R



=2 E VAP R R Ve

B X 0 1 % 2 3
N 1
f(x) -5 —1 —E-——l —5
WU
fIRE 4
*a,b,cx

P, ¥ - Stk f(x) =altbxtem e f(—1)=-3,f(3)=-1
b2 4ac<0, Bl (Aa<0 Bc<0 ©F(0) <f(1l) OFf(4) <f(5)

Ef(—3) <f(—2) .
.: f(—1) =—3,f(3) =—1 % b*—4ac<0

A

-

fHa<0,b<0,f(0) <f(1) f(4)tﬁ’f(5)jr ,f(—3) <f(—2)
EABICIE)
fliE 5
wa,bmigH, r - xadf(x) =a(x—1)%+b, %2 f(4) >0,f(5) <0,
€$FFBTJ'J'F’%‘§; ? MAf(0) >0 Bf(—1) >0 ©f(—2) >0 Df(—3) >
0 Bf(—4) >0.
m: ﬁ?iwif(x) =a(x—1)2+b VEFEHITE x=1
~f(4) >0,f(5) <0
S PSP R
TP W,?[ 2<X <A, FrETRELL
’5 X< — 35‘/x>5E4J‘ PR £ g
g{yf(O) >0,f(—1) >0,f(—2) >0,
f(—3) <0,f(—4) <0

2 ABIC)

R S

Y3 - Lt 75



fyIRE 6

1
= :’z&ﬂtyzz —Xi-EFXfreHdaldl, A Fyhie S bE >, @

1
ATRAG S 25 G y= 2x+x 4, plE¥ (a,b) =

u: y:%xz—Zx:% (x—2)2—2 52 721
y:%x2+x—4:; (xH)L&
FIE R P (2, —2) RS [y -3 i
FIfIET -3 B0 (-1, )
ﬁ?’é@‘éﬁfr(a,b>:<*3’*%)

kg 7

KL iy=2, % T3 [, @& [ ostfidhs x=3, 2 % (2,6) , Pl "2
AR A .
LRI P y=2(x—3)%+k
R (2, 6) f87 0 6=2+k " k=4
i y=2(x—3)2+4=2x*—12x+22

fyIRE 8
(1) iFy=Ff(x) = |x2—3x| —X+12 B .
(2) (3L, § x= LX) 5 &G

@) 3 45 =3 | —x+1=K(KER) 155 3 BB LT 1T, BIkZ 05

m:1O Fﬂlx— x>0Eﬂj A x(x=3) =0 = x=3 ¥ x=0
Hy=x*-3x—x+1= (x—2)?—3
@) Fﬂlx —3x<0E4J‘ AIx(x—3) <0 =~ 0<x<3

Hy=—x+3x—x+1=— (x—1)2+2
2) [T i x=3, FO0 T -2

o [y= ¥ =3 | —x+1 -
(3) Ay Pl B W8

[F' [T VAL i — 2 <k <15 k>2

76 Byl (- R



fyIRE 9

¢ vz X e y=f(x) @Az (—-1,2) , (0,6) , (1,12) , &)
f(x) = , A Bk L , HH e A58 4

H: ]%f(x) =ax’+bx+c, F a0,

a—b+c=2

c=6 Ejé;l/'rﬁ a=1,b=5,c=6
a+b+c=12

" f(x) =x+5x+6
Y y=t(x) =X A6= (X+5) "=

e g i 5 1 . 5
R (— s ) SPERCAE L x5 =0

I 10
¢ o Safey=f(x) B2 (1,5) , (4,11) ® H 5> 4258 5 x=2, ]
f(x) =
W y=f(x) =a(x—2)%+k 7
o R atk=5 _ |
‘.‘iﬁ}}%ﬁ(l,S) , (4,11) (v 4a+k:1laiﬁg/rﬁ a=2, k=3 k
ﬁ?f(x) =2(x—2)2+4+3=2x*—8x+11 %
fRE 11
- Zadcy=2"+ax+b @A B (2,3) , F FEAD Ry=4x—3 F , Bl
(a- ) b) —
. b=2 b S a e
y=2x"+ax+ (x+4)+— R (5 b—g)
F[}&#ﬂ}y 4x—3 +
- _a
Sb—g 4X(74>73 =g a3 e D
MR SR (2, 3)
.".3=8+2a-+b D=—28—5-cceeccereceiiiiiiiiiiiiiiiinnns @

2

@ O g —a-3=-2-5" a=—4,b=3
s (2, b) = (—4,3)

S8 - e 77



g 12
(1) £ y=Ff(x) =2+3x+4, B ¥ x= RICORE TN
(2) £ y=f(x) =—4C+5x—7, Bl ¥ x= L f(X) F At 2

: 3 - fm 23
o (1) y=2x"+3x+4= 2(x+4) + 8 ﬁf’g[x——jﬁ\ﬂj , Y E ] A 3

(2) y= —4x*+5x— 7——4(x—8)2 % ﬁ@“"g[x— EJJE yE ﬁ&@tffﬂ

ke 13
(1) @ af(x) =3x%—6x+8, % —2=<x=3, P f(x) 2 B+ &% , B BB
(2) @ af(x) =—2¢+12x—13, £ 0=x=2, B/ f(X) 2.5+ &% , B

s ¥
B

W (D) f(x) =3¥—6x+8=3(x—1)%+5, ¥ —2=x=3
i x=—2 ), £ 00 TR 32
B x=1[ . £ F] ey
(2) f(x) =—2%+12x—13=—2(x—3)%+5, ¥ 0=x=2
[ x =21 . £ OO TR 3
B x=0[5f , £ OO Tl e —13

RFIRE 14

SR AP XA Rk (TW , XA BL 30 4, £ A g 5000 & , feit 7| 30 4
is, FE R 1A RIE AR 100 & L R 4o N s SRR
Elj m'

K F i x A, HYE Tt oy
Fly= (5000—100x) (30-+x)
=150000 + 5000x — 3000x — 100x?
= —100x* +2000x + 150000
= —100 (x*—20x+10%) +10000 -+ 150000
= —100(x—10) 2+ 160000 = 160000
’5[ x=10 ]EHJ‘ y=160000 %5t - fifi
P”svf‘ ERT 10~ 4 2A R 5] 160000 7

e 15
= el (X) —alhbxb o, F ax=3FF, § k8, MK (a,b) =

78 il (- M



W x=30, PR 8
?J y=a(x—3)%+8, Hffra<0 = y=ax’—6ax+ (9a+8)

1 = B e reeeeneans ®
Cy=adtbx+—

i@ = 9a*+8a—1=0" (a+1) (9a—1) =0 a:—lﬁ‘}a:%('.‘a<0 S

)

Fi

[ O b=6 . [5rEf (a.b) = (~1,6)
ke 16

®kF(x) =kC+2x+1 5=l , FHF FHx, F(x) >0+, plk B e
#l =
W f(x) =ké+2x+1>0 vyt

. k>0 ........................... @
U D=22—4xkx1<0
4k >4 K> 1eerereeennnnnes ®

D . @ k>1

7
3

1
k
%

SY3F - 2R 79



